LA (=T - wmA)

B R A AF0 64 5H 38 (&) BE v b Y —EIEER
BEHE . N T B eI 41N (BPE 340 - Lo TA)
HDCP E R :
a— ouT IN 1/1
FINEAZIRE « s (K& VWIE) FlRl . 45%0 64 5A 4H (1)
JIE 57 SN 4 oUT IN GROSS | HDCP NET fiwi &
1 {7 | KJF R 38 39 77 9.0 68.0 |'EAY
2 7 |WfH sk 49 47 96 26.0 70.0 | EAY
34| ET IEA 41 42 83 12.0 71.0 | BEAY
4 N | IR R 45 41 86 14.0 72.0 |EHY
5 fir | KR &+ 43 46 89 17.0 72.0 | BEHY
6 I [Fapl s 50 54 104 31.0 73.0 |EAY
T AL | KA AR 42 43 85 12.0 73.0 |EHY
8 7 (AN R 41 41 82 7.0 75.0 |EAHY
9 fir | FH EHE 47 38 85 9.0 76.0 |'HAY
10 7 | JTHE HUE 47 64 111 34.0 77.0 | BEAY
11 A7 | /M8 #sk 48 47 95 18.0 77.0
12 fir |MH 2= 53 60 113 36.0 77.0
13 /7 | FBA IE 45 47 92 14.0 78.0
14 17 | Al FR 48 44 92 14.0 78.0
15 A7 | FH AR 49 52 101 23.0 78.0
16 7 | &7 1E 45 51 96 18.0 78.0
17 A7 |k 131 46 50 96 18.0 78.0
18 fi | J2lf % 55 47 102 22.0 80.0
19 7 | I & 47 49 96 16.0 80.0
20 7 [$TH W+ 48 52 100 20. 0 80.0 |E AV
21 fir | == #EfT 47 46 93 13.0 80.0
22 I | R W5 54 51 105 25.0 80.0
23 N |FiTH A 56 57 113 32.0 81.0
24 N | ER F5—RR 44 49 93 12.0 81.0
25 L | BN ZFE 50 50 100 18.0 82.0
26 7 [1LUH {E3E 53 51 104 22.0 82.0
27 i |5 1E 48 52 100 18.0 82.0
28 {7 | —Ef 52 50 102 20.0 82.0
29 N | IR EF 53 51 104 22.0 82.0
30 1. | i #FKin 58 52 110 28.0 82.0 \‘'HAV
31 iz | TH 18k 51 51 102 20. 0 82.0
32 L | &R A 44 40 84 1.0 83.0
33 iz | i Aok 52 52 104 21.0 83.0
34 iz | TH #Hi5 57 49 106 22.0 84.0
35 I\ | |y &RIE 47 52 99 14.0 85.0
36 17 | Hik AR 50 53 103 17.0 86. 0
37 L | A BEHEF 53 62 115 28.0 87.0
38 /L | =F Fi+ 53 54 107 18.0 89.0
39 {7 | i L BB 58 57 115 24.0 91.0 |EHAV
40 A7 | 6] $F 65 69 134 36.0 98.0 |'HAV
N R [ B




